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QUESTION 1

Given the following SAS data set ONE: 

ONE GROUP SUM 

A 765 

B 123 

C 564 

The following SAS program is submitted: 

data _null_; 

set one; 

call symput(group,sum); 

run; 

Which one of the following is the result when the program finishes execution? 

A. Macro variable C has a value of 564. 

B. Macro variable C has a value of 1452. 

C. Macro variable GROUP has a value of 564. 

D. Macro variable GROUP has a value of 1452. 

Correct Answer: A 

 

 

QUESTION 2

Which one of the following SAS programs uses the most amount of memory resources for output buffers? 

A. data new(bufsize = 1000 bufno = 5); set temp; run; 

B. data new(bufsize = 1000 bufno = 2); set temp; run; 

C. data new(bufsize = 2000 bufno = 3); set temp; run; 

D. data new(bufsize = 4000 bufno = 1); set temp; run; 

Correct Answer: C 

 

QUESTION 3

A00-202 VCE Dumps | A00-202 Practice Test | A00-202 Braindumps                                2 / 5

https://www.geekcert.com/a00-202.html
https://www.geekcert.com/a00-202.html
https://www.geekcert.com/a00-202.html


https://www.geekcert.com/a00-202.html
2024 Latest geekcert A00-202 PDF and VCE dumps Download

Given the following SAS data sets ONE and TWO: 

ONE TWO OBS COMMON X OBS COMMON Y -------------------------- ------------------------------ 1 A 10 1 A 1 2 A 13 2 A 3 3
A 14 3 B 4 4 B 9 4 B 2 5 C 8 5 C 5 6 C 14 

The following SAS DATA step is submitted: data combine; set one; set two; run; Which one of the following represents
the data values stored in data set COMBINE? 

A. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 A 14 3 

4 B 9 4 

5 B 9 2 

6 C 8 5 

7 C 14 5 

B. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 B 9 4 

4 C 8 

C. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 B 14 4 

4 B 9 2 

5 C 8 5 

D. OBS COMMON X Y 

1 A 10 1 

2 A 13 1 

3 A 14 1 

4 A 10 3 

5 A 13 3 
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6 A 14 3 

7 B 9 4 

8 B 9 2 

9 C 8 5 

10 C 14 5 

Correct Answer: C 

 

 

QUESTION 4

The following SAS program is submitted: 

%macro execute; 

 

proc print data = sasuser.houses; 

run; 

%end; 

%mend; 

Which of the following completes the above program so that it executes on Tuesday? 

A. %if andsysday = Tuesday %then %do; 

B. %if andsysday = \\'Tuesday\\' %then %do; 

C. %if "andsysday" = Tuesday %then %do; 

D. %if \\'andsysday\\' = \\'Tuesday\\' %then %do; 

Correct Answer: A 

 

QUESTION 5

The following SAS program is submitted: 

%let lib = %upcase(sasuser); 

proc sql; 

select nvar 

from dictionary.tables 
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where libname = "andlib"; 

quit; 

Given that several SAS data sets exist in the SASUSER library, which one of the following is generated as output? 

A. no result set 

B. a syntax error in the log 

C. a report showing the names of each table in SASUSER 

D. a report showing the number of columns in each table in SASUSER 

Correct Answer: D 
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